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61, Identify the correct sentence.
(@) Igive you a prize that you will work again.
(b) 1give you a prize that you may work well again.
(c) Igiveyou a prize then you may work well again.
Answer Options :
(1) Only (a) (2) Only (b) (3) Only (¢) (4) Al the above

62. Identify the sentence/s grammatically correct :
(a) If you try, you could drive a car.
(b) If I were aking. [ would help the poor.
(c) If she had worked regularly, she might have achieved her goal.
Answer Options :
(1) Only (a) and (c) () Only (v)
(3) Only (a) and (b) (4) Only (b) and (c)

63. Choose correct option to fill in the blanks.
(a) T am not feeling today.

(b) I am feeling today.

Answer Options :

(1) much well, much better (2) very well, much better
(3) very well, very better (4) much well, very better

64. Identfy the grammatically correct sentence/s.

(@) Silver is a precious metal. (b) Heis studying at an university.
(c) Heis going to United States. (d) He gave me advice.

Answer Options :

(1)  Only (a) and (c) (2) Only (a)

(3) Only (), (c) and (d) (4) Only (a) and (d)

65. Identify the correct sentences.
(@) John, write a thousand lines poem.
(b) John write a thousand lines poem.
(c) John writes a thousand lines poem.
(d) John doesn’t write a thousand lines poem,
Answer Options :

(1) Only (c¢) and (d) are correct. (2) Al (a), (b), (c) and {d) are correct,
(3) Only (a), (c) and (d) are correct. (4) All (a), (b), (c) and (d) are wrong.
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66. Choose the correct sentence :
We did not hardly have time to eat.
(1) We did not eat. (2) We didn’t have time.
(3) We hardly had time to eat. (4) Hardly we did not eat on time.

67. Choose the correct alternative to fill in the blanks in the following sentences.
(a) The lecture was boring.
(b) Itis a pity to cut down those trees.
Answer Options :

(1) fairly, rather (2) rather, fairly (3) rather, rather (4) fairly, fairly

68. (a). “Go now!” She ordered.
(b) Sunita carried her bag, umbrella and coat.
(c) Mr. Patil, the principal, is well organised.
Identify the sentence punctuated correctly.
Answer Options :
(1) Al (a), (b) and (c) (2) Only (b) and (d
(3 Only (b) (4) Only (9

69. Choose correct options to fill in the blanks.

(a) 1 want this exercise in ink.

{(b) Would you like the window ?

Answer Options :

(1) to write, to close (2) writing, closing
(3) written, closed (4) written, close

70. Choose the most correct sentence.
(1} Ilived there for five days. (2) 1left there for five days.
(3) Istayed there for five days. (4) 1stopped there for five days.
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71. Match the following :
M (1)

{a) The swan song (i) almost nothing

(b) Next to nothing (i) day-dream

(c) Brown study (i) excellent work

{d) Yeoman’s service (iv) last creation

Answer Options :

@ () () (d)

® @ 6 6 @

@ @ @ O @

@) @ @ @ 0

@ G 6 @ G
72. Pick out the error in the sentence.

England expects / everyman / todo / yourduty

(a) (b) (©) (d)

Answer Options :

O () @ o) ® © @ (@
73. Select the sentence with correct word order.

(1) For sale is piano the property with carved legs of a musician.

(2) Piano with carved legs the property of a musician is for sale.

(3} The property of a musician with carved legs is piano for sale.

(4) Carved legs with the property of a musician piano is for sale.
74. Choose the correct prepositional phrases.

(a) In compliance with

(b) Inlieu from

(c) With a view for

Answer Options :

(1) (a) only 2) (b)only

(3 (a)and (b) only (4) () and (c) only

HoAT HIHER AT /SPACE FOR ROUGH WORK
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75. Choose the prefixes expressing opposite meaning.

(a) DIS- (b) ANTE- (c) EM- (d) IN-
Answer Options :

(1) (a) and (b) Only (2) () and (d) Only

(3) (@) (b)and () Only (4)  (b) Only

76. Following words are given in a jumbled form. Identify the correct alternative forming a
meaningful sentence,

An advanced soul - P

I met ' - Q

In America - R

At a certain university - S

Answer Options :

() SRQP (2) QPSR (3) PQRS (4) QRPS

77. Choose the correct sentence.
(1) She wishes the car belonged to you.
(2) She wished the car belongs to you.
(3) She is wishing the car belonged to you.
(4) She wishes the car is belonging to you.

78. Identify the correct expressions.
(a) By Leaps and Laps
(b) Odds and Evens
(c) Kith and Keen
Answer Options :
(1} (c) only (2) (b) and (c) only
(3) (a), (b) and (c) (4) None of the above

9. The rioters fell back when the Police arrived.

Select the correct meaning of the phrase underlined.
(1) Agreed with  (2) Quarrelled (3) Retreated (4) Went forward

80. Which of the words has the same meaning as CALLOUS ?
(1) Stone (2) Unkind (3) Loud (4) Suitable
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81. Choose the word similar in meaning to CONTAGIOUS.
(1) Congruent (2) Infectious
(3) Contemporary (4) None of the above
82. His secret connections with the smugglers have brought him wundera cloud .
Identify the correct meaning of the underlined.
(1) In confusion (2)  Under suspicion
(3) Under worst situation (4) Punishment
83. Identify the sentences with same pronunciation of the word ‘ROW’.
(a) He is always having rows with his wife.
(b) She won the competition three times in a row.
(¢) He rowed us across the lake.
Answer Options :
(1) (a)and (b) only (2) (a) and (c) only
(3) (b)and (q) only (@ () (b) and (0)
84. Identify the correct sentence/s.
(a) Cosmetics set ﬁp the natural grace.
(b) The factory was set up by his uncle.
(c) We should not run over money.
(d) Itis your duty to stand up always for the poor.
Answer Options :
(1) Only (2) and (9) (2) Only (b) and (d)
(3) Only (b) (4) Only (a), (b) and (¢
85. Which of the following is a count noun ?
(1) happiness (2) sunshine (3) mile (4) gold
86. Choose the wrong sentence.

(1) An accident was happened (2) An accident has happened
(3) An accdent happened (4) An accident had happened
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87. Choose the correct sentences.
() If you had come earlier, you had been sure of your berth,
(b) If he asked me, I should marry him,
(c) If we send a telegram today, we shall get a reply in two days.
Answer Options :
(1) (2) and (¢) only (2) (b and () only
(3) (9 only (9) (a), (b) and ()

88. Identify the sentence/s which are grammatically correct.
(a) She looks charming.
(b) Gopal is senior to you by two years.
() He is the most ideal teacher.
(d) Little money is better than none.
Answer Options :
(1) Only (a), (b) and (d) (2) Only (b), (c) and (d)
(3) Only (c) and (d) (4) Only (a) and (b)

89. Choose correct Impossible conditional clause.
If they had offered me a decent salary, ,
(1) I will accept the job. (2) 1 would have accepted the job.
(3) I could accept the job. (4) 1 would had accepted the job.

90. Identify the underlined word.
Hearing the noise, the baby woke up.

(1) Sounds (2) Verbal words
(3) Verb nouns (4) Verbal adjective

91. Match the pairs

@ (1ny
(a) He acted as I advised him. (i) Noun clause
(b) I know that he is good boy. (i) Adjective clause
(c) I know the man who was here yesterday. . (iii) Adverb Clause
Answer Options :
@ ® (©

1) @) @ @
2 @ (@ @
(3 @) @ @
@ @ (@) @
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92. Select proper cohesive devices for given blanks.

Several reasons can be given for the change in the attitude of many students.
——f{a) , they fear the out break of nuclear war. __(b) , they are concerned over the
mounting pollution, of the environment. Not enough progress, ___(c) has been made
in reducing poverty or racial strife. And ___{d) |, feel frustrated in their attempts to
influence political decisions.

(i} Secondly (ii) to begin with  (iii} to conclude (iv) moreover
Answer Options :
@ (b (© (@
M ) @ G 6
@ @ @ 6 G
G @ O ) @
@ O v @) @
93. Choose the correct option to fill in the blank.
They were with amazement.
(1) Struck deaf and dumb (2y Struck deaf
(3) Struck dumb (4) Struck off
94. Choose the correct positive degree of the sentence below :
Shakespeare was the greatest English poet.
) (1) All English poets were not great.
(2) Shakespeare was a great Poet.
(3) None of the poets were greater than Shakespeare.
(4) Shakespeare was greatest.
95. Which of the expressions are correctly represented ?

(a) Keep ice on something

(b) Melt the ice

(c) The tip of the iceberg

Answer Options :

(1) () only (@ (Jonly
(3) (a) and (b) only @ (), (b) and (o)
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Read the passage given below carefully and answer the questions no. 96 to 100.

The plot in a dramatic or narrative work is constituted by its events and actions, as these
are rendered and ordered towards achieving particular emotional and artistic effects. This
description is deceptively simple, because the actions (including verbal discourse as well as
physical actions) are petformed by particular characters in a work, and are the means by which
they exhibit their moral and dispositional qualities. Plot and character are therefore
interdependent critical concepts- as Henry James has said, “What is character but the
determination of incident ? What is incident but the illustration of character ?” Notice also that
a plot is distinguishable from the “story”- that is, a bare synopsis of the temporal order of what
happens in a work of literature. When we summarize the story in a literary work, we say that
first this happens, then that, then that.... It is only when we specify how this is related to that,
and in what ways all these matters are rendered, ordered, and organized so as to achieve their
particular effects, that a synopsis begins to be adequate to the plot.

There are a great variety of plot forms. For example, some plots are designed to achieve
tragic effects, and others to achieve the effects of comedy, romance, satire, or of some other
genre. Each of these types in turn exhibits diverse plot-patterns, and may be represented in the
mode either of drama or of narrative, and either in verse or in prose.

96. What is the relationship between plot and story ?
(1) They are different from each other.
(2) They are different terms for the same thing.
(3) They are mutually exclusive.

(4) Narrative is more important than them.

97. What has been said about the variety of plot forms ?
(1) There are only few plot forms.  (2) There is only one plot form in all narratives.

(3) There are many plot forms. (4) The form of plot depends on tragic effects.

98. What does “story” express according to the passage ?
(1) Spatial order (2) Temporal order

(3) Temporary order (4) Emotional effects
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99. Match the following :

W (1)
(a) Plot (i) Moral qualities
(b) Actions (i) Synopsis
{c) Story (i) Artistic effect

(d) Plot and character (iv) Critical concepts
Answer Options :
(d) () (o) (d)
1 @ @) §{E ({v)
@ @ @ @ ()
@) @ ) gm ()
(4) @) () @ @)

100. Which of the following cannot be related to Henry James ?
(a) Character is the determination of incident.
(b) Characters wear colourful clothes in literary works.
(c) Incident is the illustration of character.
(d) Plotis distinguishable from the story.

Answer Options :

(1) (a)and (b) only (2) (b) and (d) only
(3) (a), (b) and (c) only (4) (a), (c) and (d) only
-o0o0-
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